Solve addition and subtraction two-step problems (money)

o Ahmed buys a cheese pizza for £4.75 and a seafood pizza for £6.35.
How much change does he receive from a £20 note?

£

e Sophie buys a top for £6.95, a skirt for £8.65 and a cardigan for £12.75.
How much has she spent altogether?

£

e Lucy has £1.40 to spend at the sweet shop. She buys an ice lolly for 55p
and a chocolate bar for 27p. How much money does she have left?

o Fergus earns £22.50 on Saturday and £35.75 on Sunday. He spends £16
on a new game. How much money does he have left?




